APP€y L1

ST UDY LCLENTRE

TNPSC GROUP 1 MAIN EXAM - 2023

MANDATORY TEST IV
UNIT- II Social Issues
UNIT- III: General Aptitude & Mental Ability (SSLC Standard)

Total Marks: 250 Time: 3 hrs

Section A
10 x 10 =100

Answer the following in 150 words each

1.

Write a note on National Rural Economic Transformation Project (NRETP). Enumerate its
key initiatives?

Capdw eaysll QUTmeTTHTT LUsdHTdsd HLb (NRETP) ¢Biss @iy eumys. Siser (pdaw
(wwBdleen wmeneu?

List out the initiatives taken by the Tamilnadu Government for the Entrepreneurship

Development?
CamlevwenarGeut GCwUTL IYBSTS SWOUDHTH DiTH ABSHI6TT (PWBFEmen UL IQuIed(hhibelT

What are human rights? List out the seven “core” United Nations human rights treaties.
weld o MenodeT  GTHIBT60  6laiienl! @mBHW BTGSeI gy  (PpHHw  welsh o flenwsel
QUILIHSRISMET LIL 19U (B.

Write a note on the implementation and salient features of MGNREG Scheme in Tamil
Nadu.
MGNREG gL gmg FODBTL 960 QFweLbBHHINSH SBHSH GBI euemys

Explain the various types of poverty.
gJipemouler LisbGouml eUmBHMET aileNdhEHd.

Discuss the problems of migrant labourers and mention the welfare measures taken by the
government.

yeobuwimhg gmfleomenisefler Lj&Fgmenser LMY aleuTdHlosad OBHBILD SHIGUTHET HeOISBTH
& G5 BLalgbmBsmenud GBLLIGS

Discuss the Social factors contributing to unemployment.
GouemevUiGiTenLDDF HTTEILOTE FeLpDH HTT6emNHen6N aileuTssas.

Mention the objectives and activities of Tamil Nadu State Rural Livelihoods Mission
(TNSRLM).

SODHTH  WIH6L 2IH  UTDITHTT BUbSHHeT CHTHIMISET OBBID DH6T OFWLEOLITHSHMETULD
GBS
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10.

Answer the following
etteu(meussteuBpm@  allent_uler

a. A boy is cycling such that the wheels of the cycle are making 140 revolutions per minute.
If the diameter of the wheel is 60 cm, calculate the speed in km per hour with which the
boy is cycling. (5m)

PULSHBEG 140 (Wpewp FHSID SPMIOTH @h Fpleuet MFHB6T QL BAMTEN. FBH I 60
ol Lb 60 QF.18 etefled Fpieustt ewFoHde LB Coussma &.15/wenll - Bev ETeawia

b. The adjacent sides of a parallelogram measures 34 m, 20 m and the measure of one of the
diagonal is 42 m. Find the area of parallelogram. (5m)
QT DOMBIHHA DBSHBHS USEhFHeTGT Senayser 34 15, 20 15 OBBID DIH6T  Q(H
VAL L SHFH&T Dleie 4215 6Tarled bFH DenenIBTHH 6 LTLInLIS SHTew s

Answer the following
LelteuheuaieuBpBiBg allenL wier

a. The radius and height of a cone are increased by 20%. Find the percentage change in its
Volume. (5m)
R ST Qb wBEBID o wrb 20% AP0 BT SAISeTAlET FHalE LTBBSHMS

BTN,
b. A sphere of radius 5 cm is immersed in water filled in a cylinder, the level of water rises
5 . . .
3 cm. Find the radius of the cylinder. (5m)
5 Gg.1f b OemewiL e Gsmemd @@ 2 hometulled BIFLLLULL  SHewrenifled (LPLPISHIOTS
5
wGLGUTH Bifler Sieney § 0.5 o w@mHD erafled o (Hewemuilel SIHmHd SIS

SECTION B
10 x 15 =150

Answer the following in 250 words each

11.

12.

13.

India is now the most populous nation in the world; changing population dynamic will
throw up major challenges to economy and society. - Discuss

@bHwur  QUCUTH o &0 DHB WEHFHEMOHTNS OFBTEWIL  [HILTH 2 _6lengl, EHHMBHW
LOmSleU(HLD  LOSHHETOSTMHWITRISH CUITHEMTSHTID OBBID FepddHHe0 GLIHLD FouTeddamen OBT(HHELD
- afleurd)

What are the issues faced by the Linguistic Minorities and Religious Minorities in India.
@bgHwraled T FpiumerenoulerT wHBBID Fwwl  FApLTaemwulerT egTosmeTepd LIFFFmentsel
wimemneu?

Bring out the different types of terrorism in India and explain the various models of
combating terrorism.

hgHwnalgieien  SalgaunssSHler  camebsmen  GeuallbodTaTa WHBID  SalJaTSSmS @S
uwetUBL rdHfleemer allend s
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14.

15.

16.

17.

18.

19.

What is regionalism? What are the causes of regionalism and suggest remedies to eliminate

regionalism.
Wgmb&Hwl o _ewiTe)]  6T6IBT60  6laTe?  SISMBHTR  HTJewIBIG6ET  BLID  LgnhHw o ewrTailene
SBUUSBHTET SHTalener LfbaHengobsa|b

Discuss the current situation of Human Rights in India.
@hHwmaled weld o Menosel Henev LM SLITUIR|LD

What are the aims and objectives of Community Development Programme. Critically
analyze the Community development Programme in India

gepsd  Gobutl G FLLHHear Crrssmser LBBID Hevd@GHHeT wWimel? @bHwraled Feps
Gubur . L GBNHH uie] CFuis

Answer the following questions
LeTau(pd Mmoo Ehd@ aillenl w6

a. Write a note on Village Poverty Reduction Plan (5m)
SITD B GHMBLLY HLLD GBSH SBIUY aumIs

b. Explain the purpose of Uthamar Gandhi Award
o ST HMHFH al(hal eUpEGHeaudHer Crrhsd GBHa alleu

OR

What is the current status of Poverty in India? Is poverty really reduced in India? Discuss

the effectiveness of Poverty Eradication Programmes in India.
@bFHwraled supedwuier SBCUTHHUW Hevev eleien?  @HHWTalled o ewienouied  eupIENLD
GOBHIBIGTNSHT? AbSHwraled aupend UILgS S L miseaier QFweOHmeners LB alleursbaab.

Enumerate the objectives and key components of Tamil Nadu Rural Transformation Project.
SODHTH 208 LHSHTHS SHILSHHE ChTobsmisen OBHID (PoHHW gmpisemen UL IQuiedhe

OR

What are the various initiatives taken by the Tamil Nadu Government to achieve
Sustainable Development Goals?

PlSHd Hemeowlmedr euenTFF @evdb@GHmen LWl HOWES SFd aaBHdHlenen LeCauml (WwwBdsei
wImeneu?

Answer the following
Wetteu(heussteuBpim@  allenLwier

a. Guna has fixed a single door of 3 feet wide in his room where as Nathan has fixed a
double door, each 1% feet wide in his room. From the closed state, if each of the single

and double doors can open up to 120°, whose door requires a minimum area? (7.5)
G, SHHH SmBUIed 3 Sl DIHEV(LPEITEN QMBS HHEMGUW|D, HTHT, HOIH SDlewBuiled
@elCeuTepId 12 O19 SIFB60(eTen AL ML S SHABMEMULD  CUTHSHSHWETENTTHET.  &HHeLH6NT
SIMEHSHID  epigul  Bleveoulad(mhsl  120° e auemy HBed SUIID  6Tafled,  WITHEDL I
asFHallenend HmhaHl PHUSBSHS HOILUUGH U GHewmeurer LFLiLene] ChpemeuliiGaBE?
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b.

Four horses are tied on the four corners of a square field of length 14 m so that each
horse can just touch the other two horses. They were able to graze in the area accessible
to them for 11 days. For how many days is the ungrazed area sufficient for them? (7.5)

14 5 [Hen(peiien ¢(h FHIT MOHTRISHH T BTG CLPMEVHMNID BT GSHMIH6T eebleuT(w
GHoTud BB B GHMIHmen OQHTGLIM  SULLUL BelTener, 11 HILHEHHESG DIGH6UDHET
SIEIBHIIgUl  LUGGHuled Guow  apgujld  etefled  BHpeTen  GwippuITsh  UGHSH  615HSHm6T
BT SHEHHGFH DIMaUSEHhHEG CUTHILTOISTS B(HHEGL0D?

20.  Answer the following
etteu(meussteuBpm@  allen_uler

a.

4 | Page

Nathan, an engineering student was asked to make a model shaped like a cylinder with
two cones attached at its two ends. The diameter of the model is 3 cm and its length is 12
cm. If each cone has a height of 2 cm, find the volume of the model that Nathan made.
7.5

[(_F,rrg))m ot QumSluiiwied LomewTeuT QT 2 (Hewemulledl EHUMBPLD  FnlDLH6T 2 _6iTemeumml  LOT ]
QaimB o (heurdhdlermi. wrgfluller membd 12 6.5 wBBID L 3 6.5 SuEHb. @ealbeun(m
gibller o wywd 2 6515 GHrESLTITeD BTHer o (heutddlw wrdHflullear searoeTemeud
HTENWIH

An industrial metallic bucket is in the shape of the frustum of a right circular cone whose
top and bottom diameters are 28 ¢m and 12 cm and whose height is 6 cm. Find the
curved and total surface area of the bucket. find the capacity of the bucket. (7.5)

R OsminsTeneouler o Geors  eumef, &bl DNl HBHeNIL  UQANsD 2 6TeNHl.  DIFH6H
GuoByms, omlys el LmseT (WpeuBGw 28 g wBp 12 0515 G DG 2 wgh 6
CF.15 eTaled, EMLSHHWIL SHFHleT euenenUIliL] WBBID OCTHFSL YUBLUFUemLIS SHTens. euTerulles
CaTeTeNeNALD HITENWIS.
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